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1- Choose the correct answer. (15x1=15) -uﬂﬁu’l»f Lotzers -1
1. Standard form of (z + 7)(z — 3) = —T7 is: cFtl@+n(@-3=—-1 1
z? —4x+19=0 (D) z? +4x —14=0 (Q) x? —4r+14=0 (B) a? —4r —14=0 (p)
2. The quadratic formula is: U b 2
m:—biz—ﬁ;ﬂm(m x:%@m) w:%@(& m:—biz—\/lf—_m(A)
3. Remainder for (423 — 22 — 11z — 6) =+ (z + 1) is: :{n@géé(u?’ —2? — 11z —6) + (z + 1) 3
-1 (D) 0 (© -14 (B) 1 (A)
4. In joint variation, y = k%, k is called constant of ____ ;+VMJ‘;’g_{kuﬁy - k%j_fy 4
variable & (D) z 7 (0) yy (B X x (A)
5. %isa/an_ - u{!% 5
Equation (- (B) Improper fraction /_.)J,/j (A)
None _# 1y (D) Proper fraction /_s1s (C)
6. (z,y) = (s, 1) if: :/i(z,y) = (s,t) 6
z#sandy #t (D) x=t and y=s (C) x=s and y=t (B) x=y and s=t (A)
7. Range of the data 9,11, 4,5, 6,8 will be: :and/g, 11,4,5,6,80 !
2 (D) 7 (© 5 (B) 1 (A)
8. The spread of observations in a data set is called: _%t’u{_ﬁﬂ:{gg,&uﬁﬂ/u’( 8
Dispersion iy (B) Average L. (A)
Mean _:4., (D) Central tendency s/, (Q)
9. Area of a sector = ? PRy AV} 9
3(r9)’ (D) 379 (0) 370 (B) 370 (A)
10.  The angle smaller than 90° is called ___. etk e =900 10
obtuse angle Ao (B) acute angle 2l (A)
supplementary angles é_,;;d;fg/ (D) rightangle _,i;_# (C)
11.  The greatest chord of the circle isits —ebx E st e I 11
Arc r§ (D) Diameter (e Radius r1,, (B) Tangent s (A)
12. |f two circle externally then the distance between ym}yngﬁ/LufiunL/_4/;b&}/;/;/u.,{!;/’m;fl 12
their centres is equal to sum of their radii. Ko Lo Lyl
None 1y (D) at 22 (© touch ~ (B)do not touch /=" (A)
13. The "=" used for: e ety 13
Equal g i, (D) Congruent Ju« (C) Correspondance .3~ (B) Approximation Q}T (A)
14. .14

In the adjacent circular figure, central and inscribed
angles stand on the same arc AB. Then:

2

mZ2 =3m/l (©)

B

mZs2 =2m/l (D)

J.uj&ga!);r";u!df/{‘u'}@bg ABQ:JQ

mZl = 2m/2 (B) msl =mJZ2 A

1/5



15.  Geometry is the study of: eSS F2 15
Sine of figure > (¥ (B) Shape of figure .. § f* (A)
All of them i, D) Position of figure =L (O)
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2- Answer the short questions. (6x2=12) a2 Bl ey fitn -2
i Solve the equation by completing square. _“éd"d/df".g/;fgw .
. 22 -3z —-4=0 .
ii. Solve gSF
51'% - 7z% -2 .
iii.  Find the value of h using synthetic divisoin,if 1 is the K25 — 2ha? + 1153’/?1';);/79?{(#;2Jh;‘)m5g%{; i
zero of the polynomial 2® — 2hz? + 11 s

iv.

ii.
iii.

iv.

4-

ii.

iii.

iv.

Vi.

m o % and m = 2 when n = 4 then find the value of m
when n = 6 and value of n when m = 432.
If$=<= ?(a, b,c,d,e, f #0), then show that

(& nusin = 6_,>,<uijlé'.;uf‘fm?n n=4L£m=2smo = v
em=4322_)
f“é:a:b‘;(a,b,c,d,e,f#O)%:5:?/7 v

d

a _ a’+c'+e”
b b24-d>+f2

Resolve it into partial fraction -u_’/g}f;uﬁ/dm vi
Answer the short questions. (6x2=12) _ég“ﬁ/‘yégﬂbf‘)‘:j@/} -3
Define ordered pair. Ses e iny .
Define histogram. -q/q/&ﬂ&( A
What is commulative frequency? ?+)1/y/c;p7Jﬁ Aid
Define coterminal Angles. -J”/_gf&“.,uﬂ}f Av
What is meant by zero dimension? ?9)1/y/¢fg,d)‘ v
Define Projection. -q/b:y/?&f i
Answer the short questions. (6x2=12) _ngs /"f Leliv)its -4

If length of AB is 8 cm and radius of circle is 5 cm then
find the distance of chord to center.

In the given figure find the semi circular area. If

mOA = 20cm and 7 = 3.14

<J"/'/(}‘”,.Lvl5:.7//ﬁ;3n(SJI:/&./’!;AM(BJHJJ;E/I i

7 = 3.14.5mOA = 20 cmfl_gz/()”;/&_//bﬂuﬁ(ﬁfd; i

£

A
If chord of circle makes central angle of 180° then what

is the length of chord?

Define supplementary angle and find its figure.

If |AB| = 3.5¢m and |BC| = 5¢m are the lengths of two
chords of an arc, then locate the centre of the arc.

Define median of a trinagle.

Attempt given long questions.

5(a)
(b)
6(a)

(b)

7(a)

Solve: 2z +5 = /7Tz + 16

a _c _ e a*+c*+e _ ace
If$=<= 7 then prove that PR bif

In a AABC calculate mBC when mAB = 6¢cm,
mAC = 4em and mZA = 60°.

If the distance between the centres of two circles is the
sum or the difference of their radii they will touch each
other.

In a circle prove that the arcs between two parallel and
equal chords are equal.

o B
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?%;l/ggz;w/ﬁi_‘,ﬁ" v

B2 L St

2+ 5= Tz +16:2F (a)5

e — et = = S ®

mAB = 6emem AC = dem 5./ PeSBOE £AABC (2)6
—em/A = 60°

w3501 L3P L w57 sl s F1se i L UsinsS1 (b)
-w&/u}fc_/uug;//b

(3x8=24)

Jf/;"db’&u‘l‘/uiuk‘uéu;;565L»*/}ld/"?nuf;//mf(fu:/cat" @7
-u’}'&n’d!‘/
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(b) Circumscribe a regular hexagon about a circle. _gflzuyuflfl{;/’b )
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